GSE Geometry

Solve for x.
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Learning Target #3: Triangle Relationships
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Solve for the indicated measure.
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Unit 2 Part B Review: Transformations & 60h94uence
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Learning Target #4: Parallelograms

Solve for x. Each figure is a parallelogram.
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Given: ABCD is a parallelogram C 2x=10
B / X=5 I
Prove: ZA=/ZC
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Statements Reasons
1) Given

1) MACD is a Par'u-ﬂe(ocvam

2) AB IICD,AD IICB

2) Definition of a parallelogram

3 LABD = /(DR

3) Alternate Interior Angles Postulate

4) ZADB= ZCBD

) AH.Tnk X's Postulate

5) BD =BD

5 Peflexive Pep.

¢ AABD =° ACDR

¢ ASA

7 LA EzC

7) CPCTC




